Graph these two equations

X 2|x+3[+5 = 1

- ><f: “5/ ’)

Two graphs are equal where they
Intersect

OR

Solve:
3|X - 8| + 1 = 1 9 First isolate the absolute value portion of the equation:
x-8] =6

Then apply this definition of Absolute Value:

Absolute Value --- Distance from zero on a number line.
This means you are Q‘Enits away from z%g)---to the right or left
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Solve:

3|X - 8| +1=19 First, isolate the absolute value portion of the equation.
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Then use this definition of Absolute Value to Solve for x.

Algebraic Definition of Absolute Value

o Ifx = 0,then |x| = x.
lel=6

X5 =(.

e Ifx < 0,then |x| = —x.

This says that the absolute value
of anything is either itself or its
opposite
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Solve this equation:

42x+9|-1=27
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Solve this equation: 23 — ] 74 Solve this equation: |3x + 8| + 29 = 17
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Extraneous Solution

An extraneous solution is a solution of an equation derived from an original
equation that is not a solution of the original equation.

Use this graph of y = [x - 2| + 1

to solve this inequality:

X-2|+1>2
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Solve this equation:

I3x+7]+1 =2x-5

\%xa—’]l =2x—(

3x+7 = —(2x-¢C)

3XE) = = 2x+e
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Use this graph of y = [x- 2| + 1
to solve this inequality:

X-2|+1<3
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Sol

Absolute Value Inequalities
Let k represent a positive real number.
x=—korx = k.

-k=x=k

|x| = k is equivalent to

|x| =k is equivalent to

First, isolate the Absolute Value part
on one side.
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e Distance from zero is less than 6 units.

X =6 e Closer than 6 units from zero.
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IX| > 6 ¢ Distance from zero is more than 6 units.
N ® Farther than 6 units from zero.
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Solve. 25x + 7] - 3() 23 Solve. X+ 3| >3x+7
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Problems 10, 14, 20, 23, 41, 47, 51

You DON'T need to graph the solutions
Due. Bmarrow



